Pik = 0+300,00
Skala 1:100/100

PP, = 117,00

RZEDNE PROJ

RZEDNE KONS

112057
1103 1
112030
112039 1

12037
12010
12005
12049

RZEDNE TEREN

110
112050 -

ODLEGLOSCI

_11;00
30 A

00
29

Pik = 0+315,00
Skala 1:100/100

PP, = 116,00

RZEDNE PROJ

RZEDNE KONS

112030
112029
112025
112024
112024 A
11202
11007
1101 1
112006 -

120,0
12009
1199
1199
120,04
1204
12002
191
11967
1195
11986

RZEDNE TEREN

1 12015
411972

1015
4 119,20
411998
11998 -

ODLEGLOSCI

9.0
-0 -
60 -
38 A
230 -
00
20 A
3 A
40

Pik = 0+4332,90
Skala 1:100/100

PP, = 115,00

11y
-4
4

RZEDNE PROJ

RZEDNE KNS

11975
11979
11983
11979
11979 4
11985
11990 4
11985
11979

19,5
119,99
119,49
119,93
119,63
19,9
119,59
119,63
119,40
119,49
119,40
119,60
119,59

RZEDNE TEREN

11930 1
4 11960

11960 -
11880 1

ODLEGLOSCI

13
10 A
60 -
430
-400
38
38 A
230 A
0,00
0,9
20 A
38 4
2%




